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Physics

The resistance of the wire made of iron is R. If the length and radius change to double
of its initial values, then

The resistance will be double, resistivity will be half.

The resistance will be half, resistivity remains same.

The resistance will be half, resistivity will be double.

The resistance and resistivity remain same.
e [Rfife @3l i @ir R1, 7@ oa i ¢ eid Terg faww w9 w7, OR-
@Y faes 2@, @ W 3,

@Y EF 7E, @HF G2 A,
@ WET 7@, @E e 7w,
@K 8 [HE 993 A,

p1 and p2 are the resistivity of the materials of two wires of the same dimenians .
what will be the equivalent resistivity of the series combination of the two wires ?
IR AR G5 I TAMIET @HE p1 8 po | G0 Al TRIE & F(e1 TRIEG 9o0
IR 2(F -
a) prt p D5 (P1+pd O 2(1+p2) @) Vpp2
If two rods of lengths L and 2L having Co-efficient of linear expansion oc and 2oc
respectively are connected end — on — end, the average coefficient of linear expansion
of the composite rod, equals —

L e 2L tndy %8 b s LR ool Sl 2=, IR O 2PNl AIE FRAHE oc 8
20c) Y MSHA (G 2P 9% T -

3 3 5

a) Pl b) P c) P d) None.

A small magnet is allowed to fall through a fixed vertical conducting pipe. The
acceleration of the magnet will be — ( g = acceleration due to gravity)

a) Equal to g b) lessthang  c) greater than g d) no relation with g.
T LT G (RG] TS pFRE (el 28 AR @I B Tovg ARRIY AR foew e wm
PRI TG P Gl - (g = wfower 9a)

a) g - @9 AW b) g - @q = C) g - ¥s @A d) g - «3 fe® T 2
In a hostel, 20 pieces of L.E.D Bulb each of 5 watts glow for 5 hrs per night.

The expenses for electric energy for a month of 30 days will be ( the cost per
B.O.T is Rs 6.00)



10.

11.

12.

&35 =@ 20 5 5 watt @3 L.E.D. 2oz 5 51 4@ gl 30 ew W61 @ ®EEs [ge
W 46 R T o am 1 B.O.T @3 wiw =7 6 5=l
a) Rs180.00 b) Rs 90.00 ¢) Rs 45.00 d) Rs 15.00
If absolute refractive index of water and glass are 4/3 and 3/2 respectively therefore
the refractive index of glass with respect to water —
ool @ FHA AN AforE W@ 4/3 ¢ 3/2 A T& AeiE e AT 23 -

)~ b) 02 Q) >
3 9 g 4
420 J enerjy is supplied to 10g of water. The rise in temperature of water will be
10 g &1 420 J *f& KR+ 2 S Ol Jfa Al -
“a) 1% b) 4.2°% c) 10% d) 32°%
Refractive index of medium in which velocity of light is 2*108ms™? is —
@M T SER @@ 2*108 m/s |63 TR 2AfSRE 24 -
a)l4 b) 2.3 c) 15 d) 1.0
The ratio of the densities of two materials is 5:6 and the rato of their specificheats is
3:5. The ratio of their thermal capacities per unit volume will be —
A “Mia TG WAAS  5:6 @R WART SR WS 3:5190F GFF AASEH SRS
SIS 7 -

a) 1:2 b) 2:1 c) 3:2 d) 2:3
To from three images of an object, the angle at which mirrors should be inclined to
each other is —
<3 7 ol AR 10w & 4 w1 F @ I TS RS TI ©f T -

a) 30° b) 60° c) 120° d) 90°
A ray of light is incident on a plane mirror at an angle of 30°. The deviation product in
the ray is —
GG AP TP Tooet Wi 300 Tl WiAfo® = b B s 1 -
a) 30° b) 60° c) 90° d) 120°
Equivalent resistance between the point A and B —

A ¢ B [« W 950 I TS -

Cjﬁ?ﬁ—ﬁ

a) 40 b) 8 Q ©)320Q d)2Q



13.

14

15.

The condition for minimum deviation of a ray in a prism is —
oo Tl e SR B I e 26w 1S % -

a) i1 > iz b) A = 60° ¢) i1 = iz d) i1 < iz

. A liquid of cubical expansion ‘C’ is in a vessel make of material of co-efficient of

linear expansion o . If the vessel with the liquid is heated, the level of the liquid

remains constant. C is equal to —
'C' e PR waE [RRE 936 ST oo (MG 2PIRe @A [RRE cmidw (odi
G A TN =1 S T AT TOS FAE AT SE (A ARSI =+

N C @9 W 3=-

a) 3o b) 2oc C) oc d) /3
A concave mirror of focal length f (in air) is immersed in water (u =4/3) The focal

length of the mirror in water will be —

f m v RFE (IREO) @IE S[7oe woiee oE Mefege I BRI @I (9 IS =@ 2

4 3 7
a) f b)gf C);f d) Ef



Chemistry
. The number of protons present in 200 mg CaCO3 is-
300 @3 f& CaCO3 1o FoufE (3G I9A=-

a . . C) o. .
(a) 6.022 * 1022 (b) 6.022 * 102 () 6.022 * 10%° (d) 6.022 *
1028

In a balanced equation- H2SO4 + X HI > HxS+y I+ ZH2O - The value of X,y , z
are

H2SOs + X HI — HyS +y Io+ Z HoO #fits sSiw=elors X, y, Z @7 59 24 -

Q) X=3, y=5,2=2b) x=4,y=8,z=5¢c)x=8,y=4,z=4 d)x=5y=3,2z
=4

. When one electron of a hydrogen atom jumps from n=5 to n=1 state, the number of
spectral line is -

T G FERGT RGNS 7 N=¢ €T N=5 (O AT, Fof @l i Aean wme

a) 15 b) 6 c) 10 d) 4

. Where Aufbau principle is violated?
IR el S q6rz AP

o AT P M W 90 WA 93 QA

By silent electric discharge O2 gas is converted to Oz gas. By this process 30 c.c. of O
gas is converted to 25 c.c. of mixed gas. Volume of Oz gas in the mixture is —

O Re=iwr ofbegmea =i O3 =it e =21 30 c.c O2 i @3 “fewrm 25 c.c [ sypi
Teoiw T @ e O3 @3 =Rre -

a) 10c.c (b) 15c.c (c)20c.c (d5¢c.c

. The electronic configuration of transitional elements is-

NS R 2ERG [P 24-

a) (n-1)d*°ns'? b) ns?(n-1) d*° c) nst d) ns? np®

. The correct order of electronegativity is-

IEIEEEDhT AvTew == -
a) 0>0>0" b) 0>0>0" c) 0*>0>0 d) 0>0>0"

. If the vapor density of a gas is D then what is the weight of 1 lit. of that gas at STP-
a) Dgm b) D/0.089 gm c) D/2 gm d) D*0.089 gm

. Which has highest dipole moment?

T BT I AEH?

q al cl Cl
@ g ® o« (c) f (d) @
i i |
cl C q

cl



10. Which pair of compounds are not isomer for each other —

2) CHsCOOH and CH=CH  (b) CHs — CONHz and CH — CH =N — OH

H OH H
¢) OHC — CH,— CHO and CH3 — CH, -COOH  d) CHs— CH,— CHO and CH C@Hs

11.In Ig, the Lewis acid is- (Is" S 5251 Sfie =)
(a) I (b) I (c) I* (d) Iy

12. 0

\ Cr*
/ " \ | What is the oxidation number of Cr* in this compound?
0 (0]

@3 @t Cr* -9 S AeL) 99

0
|
0

(a) +2 (b) +8 (c)+6 (d) -6
13. The correct structure of H,0; is-
H20, 97 73 515w =1 H
H / H\ 0 /
—0
(a) g 0o b) H—0—0—H ((© o0-0n (d) /
e ANv4 H
H
14. The most stable hydride is-
(a) NaH (b) RbH (c) KH (d) LiH

15. The correct IUPAC name of the compound is-

e weiba 7 IUPAC AN =&t

(a) 3-ethyl-4, 4- dimethyl heptane (b)1,1- diethyl -2,2- dimethyl heptane
(c) 4,4- dimethyl -5,5- dimethyl pentane (d) 5,5- dimethyl -4,4- dimethyl pentane



1.

Mathematics

If mand n are positive integers and m-n is an even number , then m?* - n” is

divisible by
T m e n e s R 93 M-n &I PN RG T, $@ m” - n’ TS 7R [FORT =3 2
@4 (b) 6 (c)8 (d) None of these

Find the value of +/4 + 2v/3 +v/4 — 2v/3+,/(—37) — V32

2.

Va+2V3+/a- 2/3+,/(—35) —V/3% @@ W o ¢

3.

oo

(@0 (b) 2 (c) 2v/3 (d)—4

If A = Sin%0 + Cos*0 then for all real values of 0, A is —
A =Sin0 + Cos*0 @ 0 «a e VI W= &, A -

i"‘iA“‘il byl=A=<2 EﬂiAﬂil diﬂiA"iE
@,;<A<1 ()l=As O <A<l (@ <As

If sin X + sin®x =1, then the value of cos*x +3 cosx + 3 cos®X + cos®x -1 is
M sin x + sin®x =1 27 O@ cos'*x +3 cos% + 3 cos®x + cos®x -1 @a W

(@0 (b) 1 () -1 (d) 2
If tan*e + tan®e = 1, then the value of cos®e + cos®e
W tan‘e + tan’e = 1, T O@ cos°e + co5 0 G W :
@)1 (b) 2 ()3 (d) 1
If sin(e®) = 2%+27* | then find the number of real solution.

sin(e¥) = 2%427% | ASA=a AWI TN He T
@0 (b) 1 (c)2 (d)3

The straight line 3x +4y =12 intersects the axes at A and B. The area of the incircle of
AAOB is

3x +4y =12 SREERIG SFEE A€ B TS (=4 T AOB TgIod SUIE (Fawsl 97

a) 6 squnit b) 6 w squnit C) 12 & squint d)  squint

. Find the area of circumcircle of the triangle whose sides are 3, 4 and 5 cm.



(@) 25  sqcm (b) —En sgcm (c) %n sgcm (d) =sqcm
3,4, 5w a= [RFE ~fgres tvawa 3© ¢
a) 25 n 35f I b)zﬂ—Enaﬂ‘mﬁ c)%naﬁmﬁ d) n 3 oW

9. The length of the medians of a triangle are 9cm, 12cm, 15cm respectively. The area of

the triangle is

a) 24 sqcm b) 36 sqcm C) 72 sgcm d) 12 sqcm

g3l fagrem wwl foqb7 (i i@ 761, 1207, 1501 fageibea trare 3o 2
a) 24 3o G b) 36 3f FIfw c) 72 3 W d) 12 3t @il

10. The external bisectors of 2B and 2C of AABC meet at a point p . If ZBAC =80°

then 2BPC is

ABC fagrers £B @2 £C @71 IfEfadss an p [Jqes = 9, I LBAC =80° =0 O £BPC=
a) 50° b) 40° c) 80° d) 100°
11. If atriangle is inscribed in a circle, then sun of the angles in the circular segments

outside the triangle is —
= e SRS @R fagrem 3R Jere foabre s[fEe @ afm i -
a) 90° b) 180° c) 360° d) 270°

12. ABC is right angle triangle whose £(C = 90, AB=C,BC=4a, CA=band

perpendicular from C to AB is p then —
ABC st fagres £0 = 90, 7@ C e AB @a B9 &if%s atgs ¢ p @< AB=Cc,

BC=a, CA=b & 9 -
1 1 1 > 2 WD 11 1
) =+ == cp =a+b d—==+5

1
ﬂz bz el

1 1
a— = — + —
),pz a2 B2

13. The X-co-ordinate of a point P is twice its Y-co-ordinate. If P is equidistant from Q

(2,-5) and R (-3, 6), then find the co-ordinate of P

= g P93 X B Y ZAiEs faww, 3@ PRy Q (2, -5) 93 R (-3, 6 ), 7% @ mzas

o7, OF P @3 I =3



a) (8,16) b) (14,7) c) (6, 3) d) (16, 8)
14. The Product of two number is 2028 and their H.C.F is 13, the number of such pairs
IS —
b R GwFe 2028 R SR SMe 13, 93 FH FO @I0 Ry AeA I -
a) 1 b) 2 )3 d) 4
15. If 0<x <m/2 and cos X + cos*X + cos®x = 1, than what is the minimum value of tan x

3 0<x <7 /2 @R cos X + cos X + cos’x =1 T OF tanx G FTSA N :

a) 1 b) 2 c) 0 d) v2



Biology

. A colour blind man marries a normal carrier woman. What would be the % of colour

blind son of them?
3w e ¢ T[T 2T WA R T O PRI I 8T 209 AP-
a) 25% b) 50% c) 75% d) 100%

. Which one is not a vestigial organ in man?

a) Body hair b) appendix  c) 3rd molar tooth  d) External pinna muscle.
G e S e e -
a) ™A N b) sureEH C) o3 e e d) 323 Fefe@ oM

. How many gamete will be produced from the genotype AaBbDdEeFf ?
AaBbDdEeFf 5 Fof Gl Besim 239

a) 16 b) 32 c) 64 d)8
If father possess AB Blood group where as mother possess B blood group, which
blood group is not present in child —
IR 6 V-7 TS g W AB ¢ B 2%, IR W06 gt b 2&F -

a) A b) B c) AB d)O

. Cross pollination in between two different plants under same species is known as —

a) Autogamy b) Cleistogamy c) Xenogamy d) geitonogamy.

«32 eEifoge v for Sfera Ty 299 el 2w -

a) SIS b) fECSEnSt C) TerHISt d) eREGEEIR

‘Explant’ refers to —

a) Grafting b) Fragmentation c) Micropropagation d) Pollination.

'Explant’' =5 2@ -

a) TSICeIC b) YOI ¢ WA /FRBI  d) “FioIIeeo!
. Spinal nerve is a type of —

a) Motor nerve b) Sensory nerve c) Adjustor nerve d) Mixed nerve.

AR S / A @ ST -

a) wiEy =y b) vieweR 1y C) SCE54 A d) fr 7

. Surgically removing tails of mice over several generations do not yield mice without

tails. This proves that-

a) Cutting tail does not cause genetic change. So it is not inherited.
b) Acquired characters during one’s own life are not inherited.

€) Neither ‘a’ nor ‘b’ is correct.



10.

11.

d) Both ‘a’ and ‘b’ are correct

TER T G T T (G0 T 2 g O MG iR 2H Gags Fell bl W
ANES =7 -

) TS F% MR @Il fFwere R 3+, ©iF 321 J6ew @iy &EEE

b) @I S Gl e 7 CAHE AP |

c) ‘@’ e‘b @ O T

d) ‘a’sb’ TeEz =

The sequence of DNA is S>’ATGGTTCCATC3’. What is the sequence of the
complimentary RNA strand?

«zf5 DNA EWW @ gl & 5’ ATGGTTCCATC3’ 1 @2 =1 siegla “Afasjge RNA @1
eyl 2(I-

a) 5’TACCAAGGTAG3’

b) 3’TACCAAGGTAGS’

c) 3’UACCAAGGUAGS5’

d) 5’UACCAAGGUAG3’

Which of the following characters is seen only in prokaryotes, not in eukaryotes?

a) Antibiotic production

b) Unicellular life

¢) Reproduction by budding

d) Nitrogen fixation

e m (ARE we ke mel I g 2owHen T

a) UfGIEGE R

b) @R &

C) @RWER @[l IR

d) ISEIEw FeIFw

Which one is not true?

a) ACTH stimulates the adrenal gland to release adrenalin hormone
b) Secretion of pituitary is under the control of hypothalamus

¢) Insulin and glucagon hormone are antagonistic to each other

d) Prolactin present in both male and female

Fw= @A 9% T2
a) ACTH =0 SUifga@ e Swlre w@ Soiftafem e waed 3@
b) FRE6R afEm w=e 2R @[ FfEre ==



C) P @R SR TR QT SeiEE R (SUrBifD)
d) w@EEE 1 992 - Tora T TS

12. Cone cell is absent in

= T S A
a) Blind spot b) Yellow spot c) Cornea d) Sclera
13. Triple antigen stands for-

a) Diphtheria, Tetanus and Pertussis vaccine

b) Polio, Measles, Typhoid vaccine

c) HIV, Tuberculosis, Typhoid vaccine

d) Diptheria, Tuberculosis, Typhoid vaccine
14. Histone protein is

a) Basic b) Acidic c) Neutral d) Salted
fRroH i 2@
a) wRE b) er=esh C) 2Rt d) =Rewsh

15. Five kingdom classification of living organisms was proposed by-

G 5 eeited eI EARTITR e 2E-
a) Simpson b) Darwin c¢) Whittakar d) Bentham and Hooker



